

### **ABC Bid Data**

ORFORD 41496C NON-FEDERAL

PROJECT: ORFORD

STATE PROJECT NUMBER: 41496C

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: January 04, 2018, 2:00 SCOPE OF WORK: Replace Stanhope salted well

COMPLETION DATE:

LOCATION:

June 29, 2018

Awarded To: CAPITAL WELL COMPANY

INC

150 CONCORD STAGE ROAD DUNBARTON, NH 03046

**Amount:** \$22,005.00

Award Date:

Certified by: PETER, E, STAMNAS

Director of Project Development

## **Summary of Bidders**

Contractor	Bid Amount	Rank
CAPITAL WELL COMPANY INC 150 CONCORD STAGE ROAD, DUNBARTON NH 03046	\$22,005.00	A
WRAGG BROS OF VERMONT INC ROUTE 5, PO BOX 110, ASCUTNEY VT 05030	\$23,620.00	В
CUSHING & SONS INC 631 Route 12 North , SURRY NH 03431	\$27,500.00	С
SKILLINGS & SONS INC 9 COLUMBIA DRIVE, AMHERST NH 03031	\$27,720.00	D

				PS&E		150 CONCOR	L COMPANY INC ID STAGE ROAD ON, NH 03046	RC	OF VERMONT INC UTE 5 EY, VT 05030
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### Items

662.1626	6" DRILLED WELL	LF	800.00	\$12.00	\$9,600.00	\$10.50	\$8,400.00	\$10.00	\$8,000.00
662.166	PILOT HOLE FOR 6" WELL (INCLUDES 6" CASING)	LF	200.00	\$25.00	\$5,000.00	\$23.00	\$4,600.00	\$22.00	\$4,400.00
662.244	4" WELL CASING (INCLUDING JASWELL SEALS & GROUT)	LF	500.00	\$7.00	\$3,500.00	\$5.00	\$2,500.00	\$9.00	\$4,500.00
662.41	TRENCH AND PIPE	LF	60.00	\$15.00	\$900.00	\$12.00	\$720.00	\$9.50	\$570.00
662,421	1" PE FLEXIBLE TUBING	LF	400.00	\$0.50	\$200.00	\$0.25	\$100.00	\$0.25	\$100.00
662.52075	SUBMERSIBLE PUMP (3/4 HP) AND ACCESSORIES	EA	1.00	\$2,575.00	\$2,575.00	\$2,485.00	\$2,485.00	\$2,850.00	\$2,850.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
1008.18	ALTERATIONS AND ADDITIONS AS NEEDED - PUMPING TEST	\$	200.00	\$1.00	\$200.00	\$1.00	\$200.00	\$1.00	\$200.00
-	Totals:			\$24,975.00		5.00 \$22,005.00		923,620.00	
			Alt. Totals:						

Totals:

\$24,975.00

\$22,005.00

\$23,620.00

				PS&E		631 Rou	& SONS INC te 12 North NH 03431	9 COLUI	6 & SONS INC IBIA DRIVE T, NH 03031
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

662.1626	6" DRILLED WELL	LF	800.00	\$12.00	\$9,600.00	\$10.00	\$8,000.00	\$13.00	\$10,400.00
662.166	PILOT HOLE FOR 6" WELL (INCLUDES 6" CASING)	LF	200.00	\$25.00	\$5,000.00	\$30.00	\$6,000.00	\$18.00	\$3,600.00
662.244	4" WELL CASING (INCLUDING JASWELL SEALS & GROUT)	LF	500.00	\$7.00	\$3,500.00	\$10.00	\$5,000.00	\$11.00	\$5,500.00
662,41	TRENCH AND PIPE	LF	60.00	\$15.00	\$900.00	\$20.00	\$1,200.00	\$12.00	\$720.00
662,421	1" PE FLEXIBLE TUBING	LF	400.00	\$0.50	\$200.00	\$0.50	\$200.00	\$1.50	\$600.00
662.52075	SUBMERSIBLE PUMP (3/4 HP) AND ACCESSORIES	EA	1.00	\$2,575.00	\$2,575.00	\$3,900.00	\$3,900.00	\$3,700.00	\$3,700.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00
1008.18	ALTERATIONS AND ADDITIONS AS NEEDED - PUMPING TEST	\$	200.00	\$1.00	\$200.00	\$1.00	\$200.00	\$1.00	\$200.00
	Totals:			\$24,975.00			\$27,500.00	0 \$27,720.00	
		Alt. Totals:							

Totals:

\$24,975.00

\$27,500.00

\$27,720.00



# **PS&E Comparison**

ORFORD 41496C NON-FEDERAL

				A-Bido	der	PS8	·Ε	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
662.1626	6" DRILLED WELL	LF	800.00	\$10.50	\$8,400.00	\$12.00	\$9,600.00	(\$1,200.00)
662.166	PILOT HOLE FOR 6" WELL (INCLUDES 6" CASING)	LF	200.00	\$23.00	\$4,600.00	\$25.00	\$5,000.00	(\$400.00)
662.244	4" WELL CASING (INCLUDING JASWELL SEALS & GROUT)	LF	500.00	\$5.00	\$2,500.00	\$7.00	\$3,500.00	(\$1,000.00)
662.41	TRENCH AND PIPE	LF	60.00	\$12.00	\$720.00	\$15.00	\$900.00	(\$180.00)
662.421	1" PE FLEXIBLE TUBING	LF	400.00	\$0.25	\$100.00	\$0.50	\$200.00	(\$100.00)
662.52075	SUBMERSIBLE PUMP (3/4 HP) AND ACCESSORIES	EA	1.00	\$2,485.00	\$2,485.00	\$2,575.00	\$2,575.00	(\$90.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
1008.18	ALTERATIONS AND ADDITIONS AS NEEDED - PUMPING TEST	\$	200.00	\$1.00	\$200.00	\$1.00	\$200.00	\$0.00
	Total:				\$22,005.00		\$24,975.00	(\$2,970.00)

Monday, January 8, 2018 Page 4 of 4